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5 (AR
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9 |HAE 4.0E+0 40 40
10 |HBER
REEET! 1.1E+2| 6.2E+2 723.1 723.1
12 |TER
13 |HREER 1.3E+0 1.3 1.3
14 |[#E)E
15 |FriRE
16 |=IWLE
17 [BIIER
18 |f&@HE 2.4E+0| 3.6E+1 38.4 38.4
19 [ILEE
20 |RHE
21 |IgEE
22 |EEEIR
23 |BHER 1.6E+0 1.6 21E+1| 3.3E+2 351.0 352.6
24 |=ZER 6.1E+0 6.1 6.1
25 |#HER 20E+2| 2.7E+4 26,765.9 26,765.9
26 |REAT 3.0E+2 300.0 300.0
27 | KRFF
28 |EER 1.2E+2 119.0 119.0
29 |ZRER
30 |FIFRLE 1.0E-1 0.1 1.0E-1 0.1 0.2
31 |BHRE
32 |BRE
33 |FWE
34 |[LER 1.1E+2 110.0 110.0
35 |WAg 7.8E+3 7,800.0 7,800.0
36 |fESR 5.9E+0 5.9 8.8E+0 8.8 14.7
37 |BNR
38 |BER 2.2E+3 2,200.0 2,200.0
39 |EER
40 |fERR 2.6E+2 260.0 260.0
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43 |RERR
44 | KHR
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46 |EEER
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1)

EE - IO7IAN)—HRE/ (B REERVATLHEE

A




